	When did the Battle of Bosworth happen?
	22nd August 1485

	What two armies fought in the battle?
	Henry Tudor Earl of Richmond’s and the Royal Army of Richard III


	Which two nobles led Henry Tudor Army?
	John de Vere, John Talbot

	What advantage did Richard III’s army have?
	High ground


	Who had no clear commitment to either side?
	The Stanleys

	What did Richard’s army fire in the battle?
	Arrows and Cannons

	Whose front line struggled early in the battle
	Richard’s 

	Who did not enter the battle when Richard ordered them to
	T The Earl of Northumberland


	What other order that Richard ordered was not carried out
	The execution of Lord Stanley’s son


	Why did Richard III charge towards Henry Tudor?
	To try and kill Henry Tudor and end the battle

	What happened when Richard was close to killing Henry?
	Lord Stanley’s forces entered the battle on Henry’s side

	What happened to Richard and his troops when the Stanley’s charged?
	They were pushed into the marsh

	What did Richard decide to do after his horse fell?
	Fight on foot

	What does Richard refuse?
	Another horse so that he may flee and fight another day

	What happens to Richard whilst fighting on foot?
	He is struck down, and his body hacked on the ground after he dies

	What title does Richard earn at the battle?
	He is the last English King to be killed in battle

	What happens to Norfolk’s men after the battle when they try and flee?
	They are chased down and routed

	What happens to Norfolk’s men after the battle when they try and flee?
	Henry Tudor




